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Evolution: Active or Passive? (Again, writing about what’s on my mind.)

After reading about all the facets of polygenists, monogenists, and evolutionary anthropologists, I have come to little conclusion to how anyone thinks evolution actually works.  In my mind, there have always been two perspectives on this matter: active or passive.  Passive, which is what I believe, looks at evolution as random refinery.  In short terms, it’s evolution in which humans become more specific to their environment by elimination of unneeded characteristics.  This constitutes elimination of genetic information but gives eligibility to acquire new information via purely random mutations.  Desirable mutations live on through reproductive desirability.
Active, which seems to have large group of supporters, is what you would have if you applied Lamarck’s ideas to the entire human species.  The idea is that the above mentioned mutations are ‘guided’ by the environment.  A good example of this is the movie WaterWorld in which sets of people acquire gills.  The passive perspective would require there (statistically) to be people would have some dry air mutation would not be as convenient.   Conversely, the movie Xmen is more coherent with the active evolutionary stance (minus the fact that it’s happening to so many people).  The idea is that the best of those mutations would propagate and the worst of the mutations would not because they would not reproduce as often.

I would really like an answer to this question, but can find little research to back either argument.  To me it seems the active evolution argument is unscientific (whatever that means) and appeals due to its optimism (like we’ve seen with other concepts in class).
 If you know how evolution ‘works’, let me know. (
